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numerical method

What is the Monte Carlo method ?

What kind of problems can we tackle ?

Magic Box?, …, more information?...

incapability?

What do we get ?

Why  Monte Carlo ? 

…or simulate  

on a computer

Outcome problemDesign the

experiment

Theory of Probability  and 
Statistics

stochastic process

solutionproblem

Monte Carlo

How does it work ?

Do it

Particle physics, Bayesian inference,… 



Example: Estimation of  (… a la Laplace)

Probability that a draw falls 
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100 83 3.32 0.1503

1000 770 3.08 0.0532

10000 7789 3.1156 0.0166

100000 78408 3.1363 0.0052
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The dependence of the uncertainty with

is a general feature of the Monte Carlo estimations

regardless the number of dimensions of the

problem

N
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Important and General Feature of Monte Carlo estimations:



Need sequences of 

random numbers 

Basis of Monte Carlo 

simulations

Get a sequence 

of random numbers 

 nzzz ,..., 21

Get a sampling of size n 
from a stochastic 

process

generate sequences of

(pseudo-)random numbers

on a computer…

…or simulate  

on a computer

Do it

( )1,0|~ xUnX D

Do not do the experiment but…. 

Design the

experiment

(∞ Refs.)

“Anyone who considers arithmetical 
methods of producing random digits is, of 
course, in a state of sin”

J. von Neumann
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Sampling moments:

Sample size: 106 events



Tricks

Normal Distribution

M(RT)2           (Markov Chains)

Gibbs Sampling,….

Great! 

But life is not uniform…

Usually a combination of 
them 

Inverse Transform

Acceptance-Rejection (“Hit-Miss”)

“Importance Sampling”,… 

How?

We can generate pseudo-random sequences  kzzz ,..., 21 )1,0(~ zUnZwith

In Physics, Statistics,… we want

to generate sequences from 

)|(~},...,,{ 21 θxX pxxx n=
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Method 1: Inverse Transform 

We want to generate a sample of )(~ xpX
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Examples:

Sampling of
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4) If                             and

Problem:

)1,0(~ xUnX

1) Generate a sample :  nxxx ,..., 21
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3) Discuss the sampling distribution of         in connection with the Law of Large 

Numbers and the Central Limit Theorem
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(assumed to be  independent random quantities)

How is                       distributed?
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For discrete random quantities
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Example: Sampling of )|(~ XPoX
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Examples:



Even though Discrete Distributions can be sampled this way,

usually one can find more efficient algorithms…
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PROBLEMS:

1) Show that if                                       then ),1|(~ byGaaXY =),|(~ baxGaX
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Gamma Distribution:

Beta Distribution:
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Generalization to n dimensions
… trivial but …
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and

there are           ways to decompose the pdf and some are       

easier to sample than others
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Example:
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Properties:

☺



☺

Direct and efficient in the sense that

Useful for many distributions of interest

)1,0(~ uUnui )(~ xpxione one

(Exponential, Cauchy, Weibull, Logistic,…)

)( xF…but in general,                 difficult to invert

numeric approximations are slow,…



Method 2: Acceptance-Rejection “Hit-Miss”

J. Von Neuman, 1951

k
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ii) Get 
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Example:
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i) Sample )1,0(~ xUnxi

ii) Accept-Reject n)
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… weighted events ???

We can do the rejection as follows:

i) Assign a weight to each generated pair

)1,0(~ uUnui

ii) Acceptance-rejection 
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➢ After step ii), all weights are:
0

1

if rejected

if accepted

    kxp ,0)|(max,0 

),( ii yx

ix

ix

k

xp
w

i

i

)( 
=

➢ Sometimes, it is interesting not to apply step ii) and keep the weights

( ) ( ) 
==

===
n

i

i

n

i

iip
wwwxg

w
xgdxxpxg

x
11

;
1

)()( 

=iw

 )|(max xpk =

(if we know  )|(max xp

)



 And suddenly…

 )(max xpk =

➢Many times we do not know                            and start with an initial guess )(max xp
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Don't throw away all generated events…



The pairs ),( yx have been generated in

with constant density so                                        with
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Properties:

☺



Easy to implement and generalize to n dimensions

Efficiency

)( xparea under

☺

1=fe

1=fe is equivalent to the Inverse Transform 

The better adjusted the covering is, 

the higher the efficiency
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Straight forward generalization to n

dimensions

i) Generate n+1                      distributed random quantities

ii) Accept or reject 
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Cover the torus by a parallelepiped:

Points inside a torus of radius ),( oi rr ( )0,0,0centred at

     iioioioioi rrrrrrrrrr ,)(),()(),( −++−++−
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to i)

(pedagogical; low efficiency)

3D Example:
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000,5=acceptedN

786,10=generatedN
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N
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knowing that:

we can estimate: 
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Problem 3D:
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Sampling of Hidrogen 
atom wave functions

Evaluate the energy 
using Virial Theorem
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n-dimensional sphere of radius           centred at


Example in n-dimensions:

Problems with low efficiency

1=r )0,...,0,0(

ii) Acceptance-rejection: 

i) Sample 

if accept as inner point of the sphere

or                 over the surface

if reject the n-tuple and go back to  i)
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Why do we have low 

efficiency?
Most of the samplings are done in regions of the 

sample space that have low probability

Example:

Generate values of x
uniformly in  1,0=x

]1,0[;~)(~ − xexpX x

Sampling of

… do a more clever 

sampling…

usually used in combination with

“Importance Sampling”
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Example of inefficiencies: Usual problem in Particle Physics…
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ii) Acceptance-rejection on 

i) Sample phase-space variables
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)|,( 1 pppd nn 
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fiiMEiii) Estimate cross-section 

“Naïve” and simple generation of n-body phase-space

sample of events with 

dynamics of the process
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Method 3: Importance Sampling 

Sample
XxxpX  ;0)|(~ 

)( 2xh probability density

Xxxhxgxp = ;0)|()|()|( 21 

Xxxhxg  ;0)(;0)( 21 i) 

ii) 
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1) Express
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xp
xg =In particular, take a convenient                        (easiness)  and define

2) Consider a sampling of

and apply the acceptance-rejection algorithm to 

)|(~ 2xhX

How are the accepted values distributed?

0)( 1 xg



=





=





=










−

−



−

−

xdxp

xdxp

xdxgxh

xdxgxh

xx

)(

)(

)()(

)()(

12

12









( )
( )

 

 


−



−

−



−







=



=

)|(

2

)|(

2

1

1

1

1

)|(
1

)|(
1

)|(

)|(,











xg

x xg

dyxdxh

dyxdxh

xgYP

xgYxXP

YX =
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i) Sample )(~ 2xhxi

ii) Apply Acceptance-Rejection to

Algorithm 

)( 1xg

)()()( 21  xhxgxp =sample drawn from nxxx ,..., 21

…∞ manners to choose )( 2xh
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Take                     as “close” as possible to 

Easiest choice: )(
)(

1
)|( 2 xxh 


= 1




… but this is just the acceptance – rejection procedure

Easy to invert so we can apply the Inverse Transform Method➢

We would like to choose                  such that,

instead of sampling uniformly the whole domain            , 

we sample with higher probability from those regions where

is “more important”

X

will be ”as flat as possible” (“flatter” than                  )

and we shall have a higher efficiency when applying 

the acceptance-rejection algorithm

➢
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Example:
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1) We did “standard” acceptance-rejection 

2) “Importance Sampling”
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)7.5,3.2(xBe

acceptance-rejection Importance Sampling
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has a relative weight)|( xpi ia

Sample )|(~ xpX i with probability ii ap =

… thus, more often from those with larger weight

Idea:

Normalisation:

Method 4: Decomposition
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Decompose the pdf as a sum 
of simpler densities

(… trick)



i) Generate                    to select            with probability   )1,0(~ uUnui

)(~ xpX i

n)
ii) Sample 

Algorithm 

)|( xpi ia

Note:

Sometimes the pdf               can not be easily integrated)|( xpi

… normalisation unknown → generate from

Evaluate the normalisation integrals         during the generation process (numeric 

integration) and assign eventually a weight                  to each event
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Example:
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15% of the times75% of the times
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Generalisation:
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as a marginal density:)|( xp
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Structure in bayesian analysis )()|()|(  xpxp 

Experimental resolution 
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Standardisation 
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ii) Central Limit Theorem:

i) Inverse Transform: is not an elementary function   

entire function                 series expansion convergent but inversion slow,…

iii) Acceptance - Rejection: not efficient although… 

iv) Importance Sampling: easy to find good approximations
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Sometimes, going to higher dimensions helps: 

in two dimensions…
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i) Consider two independent random quantities
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independent 

(G.E.P.Box, M.E. Muller; 1958)



n)

i) Generate                       

ii) Invert          and           to get

Algorithm 
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iii) Obtain                             as                                    

(independent)



Sampling from Conditional Densities
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Example: 2-dimensional Normal random quantity



n-dimensional Normal Density … different ways
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Factorisation Theorem:
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Algorithm:
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Example: 2-dimensional Normal random quantity



Example: Interaction of 
photons with matter

(Compton scattering)



Rayleigh 
(Thomson)

Pairs e+e-

Photoelectric

Photonuclear
Absorption

Compton

Interaction of photons 
with matter



Photon 
beam

Carbon

Iron

Photographic 
film

Radiography
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1) What kind of process?
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 

 = cross-section = “probability of interaction” 

with atom expressed in cm2



In a thin slab of surface S and thickness  
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“mean free path”

2) Where do we have the first/next interaction?

 = cross-section = “probability of interaction” 

with atom expressed in cm2

“Interaction surface” covered by atoms                                           cm2
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Get the “mean free path” 
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In this example, we shall simulate only the Compton process so I took 
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3) Compton  Interaction easy: 
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 1,1cos −= x   2,0
(integrated)

2 variables (8-2-4)  ,
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easy to invert…  Inverse Transform 

“fairly flat”… Acceptance-rejection
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3.1) Generate polar angle for the outgoing photon ()

straight-forward acceptance-rejection very inefficient...

complicated to apply inverse transform…

Use: Decomposition  + inverse transform + acceptance-rejection
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100,000 generated 
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trajectory of one photon



END    OF    FIRST    PART

To come:

Markov Chain Monte Carlo (Metropolis, Hastings, Gibbs,…)

Examples: Path Integrals in Quantum Mechanics

Bayesian Inference
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First step done: We have already the N=100,000 events
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Second step: redistribute all N generated events  moving 
each event from its present bin to a different one (or 
the same) to get eventually a sampling from

number of bins = 11

Sampling probability vector

HOW?

Step 0)      Generate N=100,000

But we want this:



),|( pnjXP =In one step: an event in bin i goes to bin j with probability

… But this is equivalent to sample from ),|( pnkBi
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to go from            to desired     
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irreducible : all the states of the system communicate among themselves

recurrent : being at one state, we shall return to it with

and     ergodic: that is, the states of the system are

Remainder: If the Markov Chain is…

1=p

positive:     we shall go to it in a finite number of steps   

aperiodic:  the system is not trapped cycles

i) There is a unique stationary distribution          with                  (unique fix vector)
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A sufficient condition (not necessary) for      to be a fix vector of           is that     P

ways to choose the Probability Transition Matrix       
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After specifying                                            according to the

Accept the migration               with probability

populations step       
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For instance, at step t …
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After 20 steps… 
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Convergence? 

Watch for trends, correlations, 
“good mixing”,… 



Still Freedom to choose the 
Transition Matrix

Basis for Markov Chain Monte Carlo simulation

Detailed Balance Condition

P

Trivial election:      jij =)(P
ijji  =

Select a new state migrating events from one bin to 
another with probability        kkXP == )(
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Simple probability to choose a new 
possible bin j for an event that is 

at bin i 

probability to accept the proposed new 
bin j  for an event at bin i taken in such 
a way that the Detailed Balance 
Condition is satisfied
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Metropolis-Hastings algorithm      
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Metropolis algorithm
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2) Generate a proposed new value          from the distribution
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3) Accept the new value        with probability 
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4) If accepted, set  xx =)(t )1()( −= tt
xxOtherwise, set 

1) At step              , choose  an admissible arbitrary state                
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In practice, we do not proceed as in the previous examples, (meant for illustration)               

Once equilibrium reached…

1) Need some initial steps to reach “equilibrium” (stable running conditions)  

2) For samplings, take draws every few steps to reduce correlations (if important)            

Metropolis                                                 Metropolis-Hastings

different steps              different samplings from “same” distribution

(not symmetric)



“Easy” and powerful ☺ Virtually any density regardless the number 

of dimensions and analytic complexity 

 Sampling “correct” 

asymptotically
Need previous sweeps (“burn-out”, 

“thermalization”) to reach asymptotic limit

☺ Changes of configurations 

depend on 

Normalization is not relevant

Properties:


Correlations among  

different states

… nevertheless, in many 

circumstances is the only practical 

solution...
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Method 5: Markov Chain Monte Carlo  

with Gibbs Sampling

1) Some (“many”) times, we do not have the explicit expression of the pdf             

but know the conditional densities

2) Usually, conditionals densities have simpler expressions

3) Bayesian Structure: )()|(),|()|,(  ppxpxp 

And Last…

…Sampling from Conditional densities

(and in particular hierarchical models)
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2) Sample the n-dimensional random quantity      

from the conditional distributions
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Consider:
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2) The conditional densities

3) An arbitrary initial state Xnxxx ))0(,),0(),0(( 21 

1) The probability density function

(usually less than n are needed)
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4) Sampling of the                                random quantities at
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At the end of step
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Quantum Mechanics
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